
 

 

������� 	�
���� ��
�� ������ �����
����������� 	������ (HF)

  �������	ITU-R  P.533-11

(2012/02)

 �
�
��	P

�
���	 �
���	 �����	��	



ii  �������  ITU-R  P.533-11 

�����  

 � �������	� 
�����	� �
� ������� � �������� �
	���	�� ������� �
���	� ��!" � #$��� %��& �������	� 
���"�� '�(� )*(+� )
,
� -����. /�0" 1
�����	� 2�3 ���4 /�� 
���%� 5��67� 1�
*"�8	� 
���9� �:
; �< 1�������	� 
���"�� 
���=.�?����@�� 
�
A��	� ���@  


�
�,� �������	� 
���"B	 �
�
*���� �
3��	� 
��CD3� �B= E� �
"���
8	�� �
�
FG�	� H�I�J� �������	� 
���"�� '�(� K�D��  
���"��
.
���%�	� /�L M�@�8< �������	�  

 

 ��	
��
 ��
��
 ���� ���� �����
	�
 ������
 ���! �"��"(IPR) 


N" '�(� �& �O��P3� 
�5�Q	� ���
� � ���0�	� �
0*3� R�NS T*��� ��
; �������	� 
���"�� '�(� �:�U�� V	� ���
8*	 �A� ��� W

�
	��	� �
GN"�:0	� �GX*	�� Y��
N	� �
Z��*	 �
	��	� ��FG3�� �������	� 
���"�� '�(�� 
���"�� (ITU-T/ITU-R/ISO/IEC) 3�� � �:
	7 %�P

 T[*3�1  %��N	�&ITU-R 1 )��3� � \=% ]G� E@ ]����*	 �. 
�5�Q	� E@ /�
& ^�N�	 �_������ 
�5�Q	� Y*��` YaUG� V	� 
�%������ ��"� .
 b���0	��R/go/patents/en-http://www.itu.int/ITU c
Z  
�5�Q	� ���
� T
U(�& �A�9� �
:
6��	� d��U3� e*@ 'B��� -�+�. E0f

.
�5�Q	� E@ 
���*�� E�+�" V	� �������	� 
���"�� '�(� 
���
& M�@�� e*@� �O��P3�  

  

  

 #"$"���%�� �����
	�
 ������
 ���! 

 �������	 
��
	 � ����� ����� ����	 ���)en/REC-R/publ/int.itu.www://http( 

������� ���	
��� 

BOY*"�8	� cU	�
BR�
���g�*�	� hB;i� jk��	�� ���%i�� l����� #6. E� #
X8�	� 

BS(�
"��	�) �
@�o�� ���9�
BT(�
���g�*�	�) �
@�o�� ���9�
F ���9���&�$	�
M�*�	� 
�o �
*"�8	� 
���9�� M��_� ���=� )���*	 K�����	� ���[�	� ���=� �*NG�3� ���9� 

P  ����
���� ������ ������
RAK�����	� p*�	� q*@
RS��& E@ %��P���� ��F�.
S�
*"�8	� ��&�$	� ���9� 

SA���L� ��A%i�� �
I�+�	� 
�N
U(�	�
SF q��N"��&�$	� ���9�� �
*"�8	� ��&�$	� ���9� ��F�. �& T
8G�	�� 
�����	� 

SM�
(	� M%��7 

SNG%�U=r	 Y*"�8	� )
�X�	�
TFs
���	� 
�%��7� ��%�
�3� 
�����	� 
���%7
V�*�	� 
�o )
t��3�� 
����3�

  

  

����� : ������� �	 �
��
���� ������ �
�������� ��� ������!  " #$��� %�&'�� ('�) �
�
��&�� *+��,+� -�./ 0�
��&���ITU-R 1.  

12&����� &3���  

 1�
G62012  

  

©  ITU  2012 

E� Y(= /ou& �7 �*
�� K!& �� /�O #0� K!& M%�PG3� vw? E� 5g6 K. x�8G��� E0f � .�J��y �PG	� R�NZ )
,  

 
���"B	 z��	� ��4��(ITU).  

http://www.itu.int/ITU-R/go/patents/en
http://www.itu.int/publ/R-REC/en


�������  ITU-R  P.533-11  

  

1

�������	  ITU-R  P.533-11  

��������	
� ��
���� �����
� ����	
� ����� ����
� ����� (HF)*،**

  

(2012-2009-2007-2005-2001-1999-1995-1994-1992-1990-1982-1978) 

&�'�(�
 )�*  

 ������� ��	
�� �
����� �
 ��� � ������� ��������� ����!"� ��#�$� %�&'���� ��((����) *+���� ,-��. ��/���� 012 3456 ���7���
 �#��
�	#4�� ��8���)(HF)9 %�:��
 ;
 <�=� >  "� �+'��.%��5�� � ((����� @���� ;����� 4#47��� �) A'B� C���D�� EF %��!  
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 ( O   �#�#(���� �9�G69� P�Q� ���QK
 <�) �7K�'6 R�� ����+�S9� MOD1 � �T�/��� �5#�Q�� ��( MO �+6  ,U���  1 
 01VW��4�5K6 �X�Y� Z�SY� ,-��Q�� ��4� ����[ ��/����  

(\  ]�+5�$9�� ]�$�"� ���-��^ C�(Y� _-�GS �: ��
��K
 A�Q�# �5#�Q�� 01^ `�7K�� ,�+Q��� MO1W  

�����  

1   ,U��� � %(����� ��
��K�� �7K�'6 Ma)1  b����6 ��((�6 4�: �#c�$�d�#Y� �8��� ��
�d�) �+$�e� ��*+���� �
 �)2 �MHz 30W  
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��� ,T��
 g#gK6 �8O �
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���� ��$�$Y� ��7K�'�� ��((���� lG�O  

1.3  ��7K�'�� ��((���� lG�O  

2.3   �5+Q�� m�n� ((����(foE) E  

_______________ 

*   {���Z |����& �}(REC533)  e*@ �������	� 
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�
I��_� E� �@��� E@ �*��� 
���*�� ��4�� �;�� �
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3.3   ((����MUF  �5+Q�� `$�$Y�E  

4.3   �5+Q�� _-�GSF2  

5.3   ((����MUF  �5+Q�� `$�$Y�F2  

1.5.3  Y� �+6��� \��$Oo(  

1.1.5.3  9 ��c'
  �^�. p��q�#(km) dmax  

2.1.5.3   �^�. p��q�# ��c'
(km) dmax  

2.5.3   l�:Y� �+6��� �
 A���$O9 ��c'
)   �^�. p��q�#km 9 000(  

1.2.5.3  9 ��c'
  �^�. p��q�#(km) dmax  

2.2.5.3   �^�. p��q�# ��c'
(km) dmax  

6.3   s�$�� �h
�� �9�7�B�tc�$�d�#Y� ��
�d9�  

7.3   ��((���� lG�O(MUF) c'�� l�: ����f
���  

4  �5+Q��) Aqn� ��((�6 lG�OE >(fs) 
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5  �#c�$�d�#Y� �8��� ]�u %4! s$��
  

1.5 P��6�9� �#��p  

2.5  9 ��c'
  �^�. p��q�#km 7 000  

1.2.5  A���$Y� %47�K��  

2.2.5  ]�v� %4! 4#4J  

3.5   �^�. p��q�# ��c'
km 9 000  

4.5   �) ��c'
7 000 �km 9 000  

6  �+5�'�� � %�'���� �Q$���� %�45��  

 	
��3  � 3����� C�(a) *+����  

7  C���D�� EF %��!"� �+'�� t�h
�� s$����  

8   %��!"� %�4�� >tc�$�d�#Y� ]�v� %4! �
 Z�SO �#�w
 A'd �8O �
 C���D�� EF %��!"� A'd� ��+5�'��
@����  

9   �7K�'
 ((�6 o(O(LUF)  

10   ��$�$Y� %��4�� �#(�7�:�(BCR)  

1.10 ������� ��	
�� �7�dY� �#(�7�:�  

2.10 ��+5�'�� %��!x� ((����� @���� 4#4� %�:��
 ;
 ���7�� ��	
�� �7�dY� �#(�7�:�  

1.2.10 ��7�K
 3�����  

2.2.10 ��
�d9� @��  

3.2.10 �#(�7�:9�) *+���� C��8F  

3.10  C���$9� sS 4�: ��X�d9�  

 ��#1���1  ,U�7��1  �  �#��
�	#4�� ��8��� ����!" `-���$9� ��X�d9� m=�y(HF) 
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 ,+Q#� �12t*+���� C��8"�  EF �^�. �G# ��c'
 EF �+'���) �K!Y� c'
 ���Jkm 7 000 ���+#�z �G�{�'
 ���H:� >
 |��6 ��c'� }��5�� ���QK
 s+� �
 ���HQd� A��
 \��$O �km 9 000 l�: ��5#�Q�� �6�2 �) ����S�( �9�7	�$�� >

 �) ��T�'�� Z4
7 000 �km 9 000.  

G�Y t�h
�� s$���� (4~� ��7K�'�� ��((���� lMUF  %�45��� %(����� �#c�$�d�#Y� �8��� ]�u %4!� ��$�$Y�
 %��5�� �5d ����� ��7�K� ���#456 �5#�Q�� �7
6� .�K
 A'	)� %��'S M�( ]�+5�$� `-��2 �
 �+5�'�� � %�'����

456 ����Y ,-��Q�� lQK6� .��7���� �7�dY� C�(a) *+���� � �h
�4{�$9 ����!"� ]�u %4! j�� ���56� .%��4�� �#(�7�:� �#
 P�Q5��) ���� }��5�� ���QK
 <�+� ��5T�ITU-R �
� �#c�$�d�#Y� _-�G�� �
 (4: (4~ MO �5#�Q�� 012 A�Q�6� .
.%(4� "j	J k�5d" 4�: ��
�d9� ��7�K
  

�
O  >(`�e� @������)) C�'�� ��:�$ �� ��-���$9� ,.���� � ���+�� ���5�$� 34: �2i(�
 *+���� �-��d � ��2��
6 �GJ 4�
9 t1�� �
Y� ���e� �#c�$�d�#Y� .�5#�Q�� 012 ��)�'B � ��
�� �S4#  
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� ���!"  

2  ���
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� ���� 	�	�  

 A���$Y� �: �+5�'�� ;��
� �$��� ;��
 �) l7�K�� %�-�4�� c'
 ]�. l�: ��
�d9� j�# Ma) ����#E  �T�'
 �B)
km 4 000 A���$Y� �:� (F2  ]�4�� � �+
 �2 �7+'B j	U��� k�5d l5��6� .(��T�'�� �� EF �+'���))1  ]�Q� ��K+6

.�'��K�� �5+Q��� c'��  

3  ����
�� ����������
��� ��!�!"� ��#$
%�� &  

 �7K�'
 ((�6 lG�O �#456 j�#(MUF)  l�: >�#�#(���� �
4{�� ]�+5
 ��f
6 �
a�) �7'# ((�6 l�:O tO >`��f
6
 ((���� �#456 �9�O :���B�
MUF  %�:��� �7'# ��UG6 �
�: 4#4J ���d��� >�#c�$�d�#Y� ��7�K�� �
 ���HQd� `$�$Y�

d9� ����� ((���� �
 l�:O ��((�6 4�: ��
�MUF .`$�$Y�  

1.3  ��"�"+
 ��,-(.�
 �
��	(�
 /�!0  

 ��7K�'�� ��((���� lG�O �456MUF  �#c�$�d�#Y� �5+Q�� �8�n� ��((���� ��5T� ��
�d9� A���$O ���{� ��$�$Y�
 A���$Y� 1S*6 �
4�: %g�5�� ]�Q) ,�K�# �
�K�� >��)�5��E �F2  .��K
 �#((���� �
 l�:Y� ((���� M�	#MUF  ��$�$Y�

 �)��$Y� �E �F2  ((���� �2 �+6� o(O �
MUF .c'7�� `$�$Y�  

2.3   ��'��� 1	2
 ��	(�
(foE) E  

 ((���� (4~foE �7�  ��/���� � ���K
 �2ITU-R P.1239.  
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 �
�� ������� ������ ���� ��� �� ����MUF  ���!�� "#$% &'
'(�E)  
*+,'����(� -
.��/�% )0
12�� +34 *%5�4� 6
�1�/� 7
8
,9:�%  

( .   ����	�MUF H	 �UZ��3� 
�����0	�� /�%�� ���"� Y���i�  

����� ���(km) D �������E  �������F2  

0 < D ≤ 2 000 M M 

2 000 < D ≤ 4 000 T + 1 0001R – 1 000 – 

2 000 < D ≤ dmax – M 

D > dmax – T + d0 / 2 1R – d0 / 2 

(�   �NU(	�& �X`�E 

����� ���(km) D   �������F2 

0 < D ≤ 2 000 M 

2 000 < D < 9 000 T + 1 000 1R – 1 000 

l(  '��P	� �83 K���3� ��0���� 
�@��"%�  

����� ���(km) D   �������F2 

0 < D ≤ dmax M 

dmax < D < 9 000 T + d0 / 2 1M 1R – d0 / 2 

� (  H	 �UZ��3� 
�����0	�� /�%�� ���"� K�������i� �������  

����� ���(km) D �������E  �������F2 

0 < D ≤ 2 000 M M 

2 000 < D ≤ 4 000 T + 1 0001M1R – 1 000 – 

2 000 < D ≤ d
max

 – T + 1 000 1M 1R – 1 000 

d
max

 < D < 9 000 – T + 1 0001T + d0 / 2 1M 1
R – d0 / 2 1R – 1 000 

M:  ��
	 !"�#$ %&'(  

T:  *+�
	 
��$  

R:  *,'��
	 
��$  

dmax:   -��+.	 � /01'�� 2�� 3"��F2  

d0:  45� %,67 �$ -��+.	 � /01'�	 2��  

��$������8 9�:��
	 7;<'6(km). 

3.3   ��	(�
MUF  ��'��� 3"�"+
E  

 �7�� ��456foE  ]�4�� � %(����� j	U��� k�5d 4�:1 �) �^�. b����# R�� ��c'7�� �+'���) j�5�� �f/O ����� (O2 000 
�km 4 000 ((���� ������� ��HK�� `QK6� .MUF  \��$Y `$�$Y�E  (4K)n  ]�Q) c'
 l�: ��g�5�� �
D: 

110secfoEMUF)(E iDn ⋅=  (1) 

 ��Bi110  0�4� %g�5�� s$� �Q5d 4�: t����� }�	Kd9� �
 P��6�� l�: (����� �#��p `2km 110 %g�� EF �+'���) >
 :]�Q)D/n = d.  
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 ((���� M�	#�MUF  �5+Q�� `$�$Y�E  �7�� �2 c'�� l�:E(D)MUF  \��$Y� �
 �+6� o(O �E.  

4.3   ��'��
 45��6F2  

 �#c�$�d�#Y� _-�G{�� t�h
�� s$��7�� ��7���� �H�X7��� 1S*6foF2 �M(3000)F2  `'7
�� ���4�� R7�5�R12  = 0 
�R12 = 100  ��/���� �
 �h! �	��ITU-R P.1239  P��6�� 4�: `'�Q�f�� ]�v� �45# ��Bkm 300 012 �7K�'6� .

��Y� EF �+'���) j�5�� 012 4#4J �8O �
 �H�X7��� ]�4�� � %(����� j	U��� k�5d EF� �)��Q�� ��1 ]�7	�$� ,+Q#� .(O
 �) �K����� ���4�� j�� �8O �
 `QS `8��S �O `�S�(R12 = 0 �R12  = 160  ��/���� ;8��)ITU-R P.371 ��K#� .(

 ���4��R12 �7�5� ��#��'
 160  ���B �foF2 .Z��O `'� ��� k�
d EF �+'���)� s5T  

5.3   ��	(�
MUF  ��'��� 3"�"+
F2  

1.5.3  ;�(� ��9��� <�='�  

1.1.5.3   7�+3�/  
>�? @%
#��(km) dmax  

 �+6��� (4Jn0  t����� }�	Kd9� P��6�� ]�7K�$�) ��$4�2 ����+�:9 ��5T� o(Y� �+6��� \��$Yhr  �Q5d 4�: ,�
��
:������� ��(�K�� �
 c'�� �G��
 � j	U���  

176 km −=
2F)3000(M

4901
r
h �O >km 500��7�5�� �f/O 1S*6� >  (2) 

 ((���� A'~ >\��$Y� �12 �MUF  �5+Q�� `$�$Y�F2 ((���� ��D#O �2� >MUF  �5+Q�� `$�$Y�F2  >c'�� �8O �

:������� ��HK�� ��5T�  

⎟⎟
⎠

⎞
⎜⎜
⎝

⎛
−+⋅⎥

⎦

⎤
⎢
⎣

⎡
−⎟⎟

⎠

⎞
⎜⎜
⎝

⎛
+=

xam

Hd

d

df
B

C

C
Dn 1

2
2foF)1(1MUF)(2F

3000

0  (3)  

:��B  

  fH:   �
 P��6�� �8O �
 >��d���	�"� M���( ((�6 �7��km 300 k�5d �
 �Q5d �� 4�: (4~ >
 ]�4�� � %(����� �+$���� j	U���1 (O  

  Cd = 0.74 – 0.591 Z – 0.424 Z2 – 0.090 Z3 + 0.088 Z4 + 0.181 Z5 + 0.096 Z6  (4) 

    �
4�:� Z = 1 – 2d / dmax  

 dmax = 4 780 + (12 610 + 2 140 / x2 – 49 720 / x4 + 688 900 / x6)  (1 / B – 0.303)  (5) 

⎥
⎦

⎤
⎢
⎣

⎡
⎟
⎠

⎞
⎜
⎝

⎛+⋅+= 9635.1–
x

7.854
sin005.00215.0]4–]2F)3000(M[[124.0–2F)3000(M

2
B
 (6) 

:��B  

   d:  D/n0 �dmax ����
���	��) �7h�: �K# 

  C3000:   �7�� `2Cd  M�	6 �
4�:km 3000 = D  

   x:  foF2/foE  �O2 = x��7�5�� ��O 1S*6� >  

   A'JfoE �7�  %�5��� � (��2.3.  
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2.1.5.3   7�+3� 
>�? @%
#��(km) dmax  

 ((���� 1S*#MUF  o(Y� �+6��� \��$Y `$�$Y�n
0
 F2(D)MUF  ]�Q) c'
 �8O �
D  ��7�5�� o(Y ��#��'


F2(dmax)MUF  ��(�K7�� ��5T�(3)  ]�4�� � �6(����� j	U��� RQ5d EF �+'���)1 ((���� ��D#O �2 �12� .(OMUF 
.c'7�� �+'���) `$�$Y�  

2.5.3   "��
'���  7�+3�) B=8(� ��9���/  @%
#��  
>�?km 9 000(  

1.2.5.3   7�+3�/  
>�? @%
#��(km) dmax  

 ((���� A'~MUF  �5+Q�� `$�$Y�F2  (4K) \��$O �n  �9(�K�� �Q$��) ��g�5�� �
(3)  EF(6)  j	U��� �Q5d 4�:
 ]�4�� � %(����� c'�� �G��
 �1 �^�. %g�5� (OD/n = d.  

2.2.5.3   7�+3� 
>�? @%
#��(km) dmax  

 ((���� A'~MUF  �5+Q�� `$�$Y�F2  (4K) \��$O �n  ��94) >��g�5�� �
F2(dmax)MUF  ��T�'7�� �#�46 �
�:�
 �K�� \��$Y� � ��g�5�� ]�. l�: 47�K#.��	[ �+6� o(O \��$O ��  

  
0

/MUF)(2FMUF)(2F
nnmax

MMdDn ⋅=  (7) 

 _�{�'6 ��BMn/Mn0  ��(�K�� �Q$��)(3) :I���� �U��� l�:  

  
MUF)(2F

MUF)(2F

0
0

Dn

dn

M

M

n

n =  (8) 

 ]�4�� � j	U��� RQ5d 4�: ��)�'e� ��7�5�� o(O l5��6� 1.(O  

6.3  ���,(��
 +
 7�"��
 8��(9� ��	���
:;�"�9��  

 �����9� M�( c'�� �: ��
�d9� j:4� ���� ��#a6 l�: ]�Gn� �9�7�B�) *+���� ���T�� M�	# 4� �9�n� �K) �
9 �9�n� 012 �X
 �� .C�(Y� ��+�Q�
� 3������ `-��^� _-�G�  ��((���� p��z �9�7�B� �T�K
 �
 �4)MUF  ((����

 M�7'5�� 345#� .�) ]�7K��3.3  �5.3 :O ��((���� �Q$���� j�5�� 0HMUF(50)  ��5+Q�� � ��
�d9� �E �F2.  

�T�7   �5+Q�� A���$a) ,�K�#F2  ]�4�� `QK#2  ��/���� �
ITU-R P.1239 �#�
: �+'d o(O δl  ��((����MUF 
R��   C���O �2p��z j�#%90  �h
�� 3�#O �
MUF(90)  �B�MUF(50) S� `�e� @������ ��K+6 <�=� ��K�� s

.`'7
�� ��	��� �G����  

�
O   >��f
��� ((�6 �h�T M�	# R�� �9�n� �f �
 ��O >MUF(50):������� ��(�K�� � lQK6 tc�$�d�#Y� s�$��� �9�7�B� M�T >  

  or = 100, whichever is the smaller    ( )lprob
f

F
δ⋅+

−=
)50(MUF1

80
130

 (9) 

 ]�4�� `QK#�3  ��/���� �
ITU-R P.1239  �#�
: �+'d l�:Oδu,  ��((����MUF  C���O �2p��z j�# R��%10  3�#O �

 �h
��MUF(10)  �B�MUF(50).`'7
�� ����	��� �G���� ��K�� sS� `�e� @������ ��K+6 <�=� >  

O�
   >��f
��� ((�6 �h�T M�	# R�� �9�n� �f �
 �X�O >MUF(50) tc�$�d�#Y� s�$��� �9�7�B� M�T >:��(�K�� � lQK�6  
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   ( ) 30
)50(MUF1

80 −
δ⋅+

=
u

prob
f

F     or = 0, whichever is the larger  (10) 

 �5+Q�� A���$O � ��+�� t�
K�� Z47�� ��+$���� MH
�K���E �� 1,05 �0,95 .I����� l�:  

 ((���� ;#p�6 l�: ]�Gn� �	 �MUF ��� ;#p���� ,�+Q�) �h
�� �
 ���K
 �:�$ � `��f
��� %�5��� � (��6.3.  

 �#((���� MO ��BH��) �#48�MUF  ]HS ��p��z j�# �#1��� ����f
���%90 �%10  �DTa� M�(4U�# �h
�� 3�#O �

.I����� l�: �7�� ((�6 l�:O� ��f
6 ((�6  

7.3   �
��	(�
 /�!0MUF ;.�
 /�< ����=�(�
  

 ��((���� lG�O M�	6MUF  A���$Y� � ��Y� ����f
��� ��((���� `2 c'�� l�: ����f
���F2  A���$Y� ��E ����6� .
 �#((���� �) ��HK��MUF  ��T��f8 ����+�:�� c'�� ]�. l�:� ���-��^�� �7�dY� _-�GS l�: `$�$Y�� `��f
���

%��4�� C�(Y ���7: �)�z EF ��(���$� (4U�# MO `f+�#� .�2c��9 �
4�:� .  ��((���� lG�O t��'6 �)�q��� 012 �T��6MUF 
 A���$Y� � ����f
���F2  ��((���� lG�O �6�dMUF  �7�5��� ��$�$Y�Rop  ��BRop  ]�4�� � %(���1  ��/���� �


ITU-R P.1240�
O W  A���$Y� �E  ��((���� lG�O t��'�TMUF .��$�$Y� �¡H�X
 ����f
���  

G�O ��45#� ��((���� lMUF  C���O �2p��z j�# R�� ����f
���%10 �%90  ����f
��� ��((���� lG�O s$��
 \�D) 3�#Y� �

 ���4�� � %(����� �7-H�� �
��K��)2 �3  ��/���� �
ITU-R P.1239 A���$Y� ���B � >FA���$Y� ���B �� .   E M�	#

�� MH
�K��  1,05 �0,95.I����� l�: >  

4   ��������  	
��
�� ����
E �(fs) 

 �5+Q��) Aqn� � ����#E  A���$Y� �F2 9 ��c'
 EF �+'���)  �^�. p��q�#km 9 000  ]�4�� ��d�)1((\ .
 �7�� �7K�'6�foE 9 ��c'
 EF �+'���)) c'�� �G��
 �Q5d 4�:  �^�. p��q�#km 2 000 ��7�� l�:O �7K�'6 �O >(

foE RQ5d 4�:  �T�'
 l�: j	U���km 1 000  �^�. p��q�# ��c'
 EF �+'���)) c'�� �
 ��. �� �
km 2 000 >(
.AqU�� ((�6 lG�O \�'B � <�=�  

  fs = 1.05 foE sec i  (11) 

:��B  

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

+
Δ=
r

F

hR

R
i

0

0 cos
arcsin  (12) 

:��B�  

   i:   P��6�� 4�: (����� �#��pkm 110 = hr  

  R0:   >��Y� �Q� �Gdkm 6 371 

  ΔF:   �5+Q�� \��$Y P��6�9� �#��pF2  ��(�K�� �
 (4J)(13).(  
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 ����2 

���	
����
� ����� ��� ��� �
���  

5  	���������� 	���� ��! "#$ %��&'  

 ]�Q� ��K+6 C�g8O ��H� �
 *+���� C��8F M�	�#� .�h
�� 3�#O �	� t�h
�� s$���� `2 �K����� ]�v� %4! M�	6.c'��  

1.5  ��>
? ����8�
  

�� ��((���� �� l�: ,+Q�6 R�� P��6�9� �#��p ������� �f�G�� `QK6  ((���� �
 l�:Y� ��((���� <�= �MUF :`$�$Y�  

  ⎟⎟
⎠

⎞
⎜⎜
⎝

⎛

+
=Δ

00

0

0 2
cosec–

2
cotarctan

R

d

hR

R

R

d

r

  (13) 

:��B  

  d:   (4K) \��$O � %g�5�� ]�.n  }�$O l�: ��g�5�� �
D/n = d  

  hr:   }�	Kd9� P��6��¢T�	�� t�����  

   A���$Y� ��E  M�	#km 110 = hr 

   1S*#�hr  A���$Y� �F2 .%g�5�� ]�.� ;����� @���� ��94)  

 t����� }�	Kd9� P��6�� A'~�hr  A���$Y� �F2 :��B >I���� �U��� l�:  

x = foF2/foE � 

316–
2F)3000(M

4901

M
H

Δ+
=

 

;
�:  

150

)25–(096,0

4,1–

18,0 12R

y
M +=Δ  

�  x = y  �O1,8 .��O �7h#O  

 ( O   �8O �
3,33 < x �1 ≤ f/foF2 = xr ��B >f :�8��� ((�6 �2  

  h = hr  �Okm 800�f/O �7h#O >  (14)  

:��B  

 h = A1 + B1 2.4–a for B1 and a ≥ 0 
  = A1 + B1 otherwise 

 with A1 = 140 + (H – 47) E1 

 B1 = 150 + (H – 17) F1 – A1 

 E1 = –0.09707 
3

r
x  + 0.6870 2

r
x  – 0.7506 xr + 0.6 
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 �7�� (4J�F1 :M�	6 ��£  

 F1 = –1.862 
4

r
x  + 12.95 3

r
x  – 32.03 

2

r
x  + 33.50 xr – 10.91 for xr ≤ 1.71 

 F1 = 1.21 + 0.2 xr for xr > 1.71 

 cf�6�a  �T�'�� cf�)d  `Q{��� �T�'
�ds :I���� �U��� l�:  

 a = (d – ds) / (H + 140)  

:��B ds = 160 + (H + 43) G  

 G = –2.102 4

r
x  + 19.50 3

r
x  – 63.15 

2

r
x  + 90.47 xr – 44.73  for xr ≤ 3.7 

 G = 19.25 for xr > 3.7 

(\   �8O �
3,33 < x �1 > = xr:  

  h = hr  �Okm 800�f/O �7h#O >  (15)  

:��B  

 h = A2 + B2 b for B2 ≥ 0 

  = A2 + B2 otherwise 

 With A2 = 151 + (H – 47) E2 

  B2 = 141 + (H – 24) F2 – A2 

  E2 = 0.1906 Z 2 + 0.00583 Z + 0.1936 

  F2 = 0.645 Z 

2 + 0.883 Z + 0.162 

  :��B  xr = Z  �O0,1 cf�6 �7� >��O �7h#O >b  �'��5�� �T�'�� cf�)df �Z �H :I���� �U��� l�: 

b = –7.535 
4

fd  + 15.75 
3

fd  – 8.834 
2

fd  – 0.378 df + 1  

  :��B  ( )140

115.0

+
=

HZ

d
df  �O0,65�f/O �7h#O > 

(m   �8O �
3,33 ≥ x:  

  hr = 115 + H J  +  U d  �Okm 800�f/O �7h#O >  (16)  

  �
4�:  J = – 0,7126 y3 + 5,863 y2 – 16,13 y + 16.07  

  �  U = 8 × 10–5 (H – 80) (1 + 11 y–2,2) + 1,2 × 10–3 H y–3,6  

9 R�� ��c'�� ���B ��  �^�. p��q�#(km) dmax �7�� �456 >hr  ]�.Y� ��c'�� ���B � (4~� c'�� �G��
 �Q5d 4�:
 ]�4�� � ���+�� j	U��� k�5d �� 4�:1.�Q$���� �7�5�� �7K�'6� >(m  
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2.5  � �
8�.@   �A�B ?>�C(�km 7 000 

1.2.5  "��
'(� C�D�14�  

 A���$Y� �
 (4: l5��#E  EF �^�. �G# ��c'�) ��H� EF �G6km 4 000 A���$Y� �
 (4:� (F2  `�# ��$ EF �G6
:������� c#�K�� ;�7� �h�
 ��  

−  :t����� }�	Kd9� P��6��  

�   A���$¤�E P��6�9� >hr
 

 =km 110 

�  A���$¤�F2 P��6�9� >hr
 

 ��(�K�� � (4e�(2)  �45# ��BM (3 000) F2  ]��.Y) c'�� �G��
 4�:
EF �G6 ��c'
 dmax (km) ]�4�� � ���+
 j	J �Q5d 4�: �O (1 1Sa6 ��B (mF2  �7�� o(O

 �) b����6 ��c'
 ]��.Y)dmax
 

 �(km 9 000.  

−   A���$Y�E  �  EF �^�. �G# %g�� ;
 o(Y� �+6��� \��$Okm 2 000 W%�!�+
 l�:Y� ��+6��� �
 �)��$Y� 4BO�  

−   A���$Y�F2  �  EF �^�. �G# %g�� ;
 o(Y� �+6��� \��$Odmax
 

(km)  %�!�+
 l�:Y� �7�� A6��� A���$O 4BO�
 �5+Q�� � AqB ((�6 lG�O �45# ��BE  %�5��� � ��/� (����� �U��� l�:4 .��f
��� ((�6 �
 ��O �2�  

2.2.5  E
F� C�G ����  

��$O �	� ]�v� %4! s$��
 ������� ��HK�� `QK6 \w  %�5��� � ���1
1.2.5:  

  Etw  =  136.6  +  Pt  +  Gt +  20 log f  –  Lt            dB(1 μV/m)  (17) 

:��B  

  f:   ]�$�"� ((�6(MHz)  

  Pt:   �$��� %�4�(dB(1 kW)) 

  :Gt  P��6�9� �#��p� @7'�� �#��p � ]�$�"� `-��2 A'�(Δ)  ¥b���
 `-��2 EF ��+'d ��)��Q��(dB) 

  Lb:  �7� �K�� \��$¤� P�K
�� c'
 l�: `$�$Y� ]�$�"� %��'S :`�#  

  Lb  =  32.45  +  20 log f  +  20 log p′  +  Li  +  Lm  +  Lg  +  Lh  +  Lz  (18) 

  M�	6 �
4�:�:  

  p′:   ������T9� ��-��� �T�'��(km)  

  
( )

( )[ ]∑ ⎥
⎦

⎤
⎢
⎣

⎡

+Δ
=′

n

Rd

Rd
Rp

1 0

0
0

2/cos

2/sin
2  (19) 

  Li:   ��G�
9� A+') %��'��(dB)  (4K) \��$O �n :������� ��HK�� �
 A'J ��g�5�� �
  

  
( )

( ) ∑
=

⎟
⎠

⎞
⎜
⎝

⎛ϕ⋅
χ

χ
⋅⋅

+
⋅+=

k

j

v
n

jnoon

j
noon

L

i
f

F

F
AT

kff

iRn
L

1
2

12

foE)(

)(1sec0.00671
  (20) 
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  M�	6 �
4�:�: 

 F(χ )   = cos p (0,881 χ )  �O0,02��O �7h#O > (21)  

  �7��):  

  fv = f cos i  (22) 

:�  

  i:   4�: (����� �#��pkm 110  

  k:   ]�4�� �
) j	U��� k�5d (4:1(((  

  fL:   P��6�� EF �+'���) `'�Q�f�� ��Y� ]�v ����Q�� �d�	7�� >��d���	�"� M���( ��((�6 j�� s$��

km 100 ]�4�� � %(����� j	U��� k�5d 4�: (4~ >1((  

  χj:   �+6��� �
 j	U��� �Q5d 4�: `'7
�� @7'�� �#��pj  �O°102  012 \�'B � m�46� .�f/O �7h#O
� @���� ��(�K
 �7�K���K�� �h
�� �G��
   

  χjnoon:   �7��χj `�e� @������ A'B ���h�  

  ATnoon:   :�8O �
 `�e� @������ A'B ���h� ��G�
9� �
�:0 = R12  �h
��� ���f�� ��K�� sS ��94)
 �	
�� �
 1S*#1 

  foE
⎟
⎠

⎞
⎜
⎝

⎛ϕ v

n

f
:   `$O��� (����� ¢T�	�� �8��� ((�6 �+'d ��94) �5+Q�� |���S� EF 4-�K�� ��G�
9� �
�:fv  EFfoE >

 �	
�� �
 1S*#2 

  p:   ,U��� ;8��) `'�Q�f�� ]4K�� ���� ��94) t��h��� ��G�
9� }O1  ��/����)ITU-R P.1239 (
 �	
�� �
 1S*# >�h
�� ��94)�3.  

�
O ��� EF �+'���) ((���� �
 l�:Y� ��((�MUF  MO ����T� l�: A'~� ((���� cf�) ��G�
9� cf6 �7�'�T >`$�$Y�
 ((���� ��c'
 ��d `2 �K!Y� ��c'
MUF .`$�$Y�  

  Lm:   ((���� |�T" %��'��MUF."  

     ((�6 EF �+'���)f  ((���� ��'
MUF  `$�$Y�( fb) :��
 o(O �O �K�� \��$Y� �  

  Lm = 0  (23)  

     A���$Y� EF �+'���)�E  :M�	6 �
4�:f > fb:  

  ( )[ ] dB1–/130
2

bm ffL =  (24)  

     �OdB 81 .�f/O �7h#O  

   A���$Y� EF �+'���)�F2  M�	6 �
4�:f > fb:  

  ( )[ ] dB1–/36
2/1

bm ffL =  (25)  

     �OdB 62 .�f/O �7h#O  
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  Lg:   k�5d 4�: ��Y� l�: }�	Kd9� A+') �-�'�� P�7u:�Q$���� }�	Kd9�  

     (4K) \��$O `�Tn :��g�5�� �
  

  Lg = 2(n – 1)            dB  (26) 

  

Lh:  ]�4�� � �h��F ��
�� Z�SY� ����!"� %��'S� ��5�
�� %��'�� %�:��� �7'# t1�� �
�K�� 2 .
 `��Y� `'�Q�f�� ��K�� sS ��94) �7�� �� �456�Gn  @����� (�)��8 �O C���$9� sS ]��)

 `�e�t  `2�z�) ��Y� l�: g��[ \�Q�O `-��X�°78,5 � �9��°68,2  �Q$���� j�5�� 1S*6� :��)��
 ]�4�� �
 j	U��� k�5��1.((  

     EF }��
 �h!O ]�4�:9�� �#��T EF �7'#( �h!O ����Y� %�	�� �
 I�7
�� �G��� � C��
�� �)�5#
�
O .�Q'�O EF ��d�# �h!O ��G��� �7T�d EF �7�+$� �#�
  �h!O ](�+��T ¦���� %�	�� �Gd �

.��G��� C��
��  

     M�	6 �
4�:°42,5 > Gn  M�	6dB 0 = Lh.  

  Lz:   l/��� ����n� �7�5��� .�5#�Q�� 012 � �8�4�� c� �#c�$�d�#Y� �8���) ��
�d9� ��c�a6 �7D�6 %��+:
�V  `2dB 9,9  %�5��� ;8��)2.5.(  

  �� ����1 �  ���� �� ��	
� �
�L
z

 

 ������ ��
��� ������� ��� � !�"# $� �� $� %&'���� �(��) �����* �+'#��
���(,�  Lz.  

 �5+Q�� �h+qJ R�� A���$Y� �: ����� ��G)E 1S*6 >e� �8��� ]�u %4
� �wT�	�� �7�5�� s$��� ����L"� ��G
 �#c�$�d�#Y�Ets (4K� �9�v� P�7v ;�)���� �18 �2��+�:�) >N  ���§ ��B A���$Y� �
N �)��$Y� �7
# �¨ l�:  

F2 �E :tO >�7©a
) *+���� ª �#1���  

  dB(1 μV/m)             ∑
=

=
N

w

E

ts
twE

1

10/

10 10log10  (27) 

�7�T�  �	) �/��� tc�$�d�#Y� ]�v� %4
� �wT�	�� �Q$���� �7�5�� l:��6 >���7�� ��	
�� �7�dY� C�(a) *+����) ,�K�#
 %�5��� ��d� >\��$O2.10.  
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��� �	1  

 �	
��
�� �

�A Tnoon  

  

  


��� �	2 

 ������ ������ �� ��
��� 	
��
�� �

� ϕn  

0533-02

fv
foE

ϕ n
f v fo
E

0

0.2

0.4

0.6

0.8

0

1.2
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1.8

2.0

1.
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70-90

������ �	
�� ��
 � 	����
����� �	
�� ��
 � 	����
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��� �	3 

 ��
�!�� 	
��
�� "#p  

  

��� ]�42  

 ���Lh  H�I(� C:
GJ� 7�:
3I% ���,2�� C:
3K� B=8 E�9(dB) 

 �-� .�� /�0�1� 2��
� (km 2 500 �4 ��5��� 5�  
 

  %!�6� 78��� 
�� �,9� :��;���t  

 01 ≤ t < 0404 ≤ t < 0707 ≤ t < 1010 ≤ t < 1313 ≤ t < 1616 ≤ t < 1919 ≤ t < 2222 ≤ t < 01 

Gn         

77,5° ≤ Gn 2,06,66,21,50,5 1,4 1,5 1,0 

��
��
��

 

72,5° ≤ Gn < 77,5°3,48,38,60,90,5 2,5 3,0 3,0 

67,5° ≤ Gn < 72,5°6,215,612,82,31,5 4,6 7,0 5,0 

62,5° ≤ Gn < 67,5°7,016,014,03,62,0 6,8 9,8 6,6 

57,5° ≤ Gn < 62,5°2,04,56,61,40,8 2,7 3,0  2,0 

52,5° ≤ Gn < 57,5°1,31,03,20,30,4 1,8 2,3 0,9 

47,5° ≤ Gn < 52,5°0,90,62,20,20,2 1,2 1,5 0,6 

42,5° ≤ Gn < 47,5°0,40,31,10,10,1 0,6 0,7 0,3 

77,5° ≤ Gn 1,42,57,43,81,0 2,4 2,4 3,3 

�
�	
�

�
�

 

72,5° ≤ Gn < 77,5°3,311,011,65,12,6 4,0 6,0 7,0 

67,5° ≤ Gn < 72,5°6,512,021,48,54,8 6,0 10,0 13,7 

62,5° ≤ Gn < 67,5°6,711,217,09,07,2 9,0 10,9 15,0 

57,5° ≤ Gn < 62,5°2,44,47,55,02,6 4,8 5,5 6,1 

52,5° ≤ Gn < 57,5°1,72,05,03,02,2  4,0 3,0 4,0 

47,5° ≤ Gn < 52,5°1,11,33,32,01,4 2,6 2,0 2,6 

42,5° ≤ Gn < 47,5°0,50,61,61,00,7 1,3 1,0 1,3 

77,5° ≤ Gn 2,22,71,22,32,2 3,8 4,2 3,8 

�

�
��

 

72,5° ≤ Gn < 77,5°2,43,02,83,02,7 4,2 4,8 4,5 

67,5° ≤ Gn < 72,5°4,94,26,24,53,8 5,4 7,7 7,2 

62,5° ≤ Gn < 67,5°6,54,89,06,04,8 9,1 9,5 8,9 

57,5° ≤ Gn < 62,5°3,22,74,03,03,0 6,5 6,7 5,0 

52,5° ≤ Gn < 57,5°2,51,82,42,3 2,6 5,0 4,6 4,0 

47,5° ≤ Gn < 52,5°1,61,21,61,51,7 3,3 3,1 2,6 

42,5° ≤ Gn < 47,5°0,80,60,80,70,8 1,6 1,5 1,3 

0533-03
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��� ]�42 ) (����  

 
 -� <=� /�0�1� 2��
� (>km 2 500  

 

 
 %!�6� 78��� 
�� �,9� :��;���t 

 

 01 ≤ t < 0404 ≤ t < 0707 ≤ t < 1010 ≤ t < 1313 ≤ t < 1616 ≤ t < 1919 ≤ t < 2222 ≤ t < 01 

Gn         
 

77,5° ≤ Gn 1,52,72,50,80,0 0,90,8 1,6 

��
��
��

 

72,5° ≤ Gn < 77,5°2,54,54,30,80,3 1,62,0 4,8 

67,5° ≤ Gn < 72,5°5,55,07,01,90,5 3,04,5 9,6 

62,5° ≤ Gn < 67,5°5,37,05,92,00,7 4,04,5 10,0 

57,5° ≤ Gn < 62,5°1,62,42,70,60,4 1,71,8 3,5 

52,5° ≤ Gn < 57,5°0,91,01,30,10,1 1,01,5 1,4 

47,5° ≤ Gn < 52,5°0,60,60,80,10,1 0,61,0 0,5 

42,5° ≤ Gn < 47,5°0,30,30,40,00,0 0,30,5 0,4 

77,5° ≤ Gn 1,01,22,73,00,6 2,02,3 1,6 

�
�	
�

�
�

 
 

72,5° ≤ Gn < 77,5°1,82,94,15,71,5 3,25,6 3,6 

67,5° ≤ Gn < 72,5°3,75,67,78,13,5 5,09,5 7,3 

62,5° ≤ Gn < 67,5°3,95,27,69,05,0 7,510,0 7,9 

57,5° ≤ Gn < 62,5°1,42,03,23,81,8 4,05,4 3,4 

52,5° ≤ Gn < 57,5°0,90,91,82,01,3 3,12,7 2,0 

47,5° ≤ Gn < 52,5°0,60,61,21,30,8 2,01,8 1,3 

42,5° ≤ Gn < 47,5°0,30,30,60,60,4 1,00,9 0,6 

77,5° ≤ Gn 1,93,82,21,12,1 1,22,3 2,4 

�

�
��

 

72,5° ≤ Gn < 77,5°1,94,62,91,32,2 1,32,8 2,7 

67,5° ≤ Gn < 72,5°4,46,35,91,93,3 1,74,4 4,5 

62,5° ≤ Gn < 67,5°5,58,57,62,64,2 3,25,5 5,7 

57,5° ≤ Gn < 62,5°2,83,83,71,42,7 1,64,5 3,2 

52,5° ≤ Gn < 57,5°2,22,42,21,02,2 1,24,4 2,5 

47,5° ≤ Gn < 52,5°1,41,61,40,61,4 0,82,9 1,6 

42,5° ≤ Gn < 47,5°0,70,80,70,30,7 0,4 1,4 0,8 

3.5   ����� ��	
 ���
��km 9 000  

 >o(O (4: EF c'�� j'5# Ma) �5#�Q�� 012 � ��*+���� j�6n9 ]�Q�� �#��'�
 ��g�5�� �
 >  tO ]�. p��q�#
�h�
 km 4 000.  

 ]�v� %4! s$��
 ��G� A'JEtl:  

( )
( ) ( )

( )
( )

( )
( ) ⎥

⎥

⎦

⎤

⎢
⎢

⎣

⎡

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

+
++

+
+

+++
+=

2

2

2

2

22

2

0 –1

HM

H

H

HL

HLHM

HM
tl

ff

ff

ff

ff

ffff

ff
EE  

  – 36.4 + Pt + Gtl + Gap – Ly            dB(1 μV/m)  (28) 

 M�	6�E0  �K

 %�4� �8O �
 �n� C�D��� � ]�v� %4! `2e.i.r.p.  �7�5)MW 3:���n� 012 �� >  

  E0 = 139.6 – 20 log p′            dB(1 μV/m)  (29) 

     A'~ ��Bp'  ���(�K�� �Q$��)(19) �(13)  }�$O l�:km 300 = hr
.

  

  Gtl:   P��6�9� Z4
 � \��Q�� @7'�� 4�: ]�$�"� `-��2 A'	� �7�� l�:O°0  EF(dB)°8  
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  Gap:  :������� ��HK�� A'B >��#�Q�� ��T�'�� 4�: cw+��� A+') ]�v� %4! � %(�#g��  

  dB
)/(sin

log10
00 RDR

D
Gap =  (30)  

    ���   @d��Gap  EF ��� 0H:O ��HK�� ��
 9  M�	6 �
4�: �#�©D  ���:�D
 �
π R0 (4J �©�T >
 �7�5)dB 15.  

  Ly:   3�h�� ����[ %��+:Lz  `2 �V l/��� ����n� �7�5���dB 3,7–.  

    �L$M�  �  �7�5�� MO EF ��
#Ly  �#4K6 tO M��5# MO A« ¬ �
� >*+���� �5#�. �/��K) ,�K�6
�  �7�5�� �K8��� �/��K�� 012Ly.  

  fH:   ]�4�� � %(����� j	U��� k�5d 4�: (4~ t1�� ��d���	�"� M���( ((�6 j�� s$��
1(O  

  fM:   ]�4�� � �6(����� j	U��� RQ5�� �G��
 �	
) (4~ �2� .t��K�� `K8��� ((����1 (O
o(Y� �7�5�� _�{�'6� :�
  

  fM = K · fg            MHz  (31) 

  
2

,

,
3

,

,

1–2.1

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡
+

⎥
⎥

⎦

⎤

⎢
⎢

⎣

⎡
++=

noong

ming

g

noong

noong

g

f

f
Y

f

f
X

f

f
WK  (32) 

  fg:  F2(4000)MUF = 1,1 F2(3000)MUF  

  fg,noon:   �7��fg ����� ��h��� �G��� ��)�5
 �:�$ �  

  fg,min:   �7�� o(Ofg  ]HS �4J24 .�:�$  

   ]�4�� `QK#�3  j��W �X �Y 012 �7K�'6� c'�� �
�� �G��
 4�: l7�K�� %�-�4�� c'
 @­ (4~� .
 |�! j�5�� �) �#��g�� `Q�� `�S�4�� ]�7	�$9� � �#��g���  ]�� j�5��� \�� � .\��8  

��� ]�43  

 ���W %X %Y  N��.��� ��
8 ������ �=D1�34�K 

 W X Y 

?�@�>�A 0,1 1,2 0,6 

/�B�>;�� 0,2 0,2 0,4 

  fL:  :o(O `K8�
 ((�6  

  

( )
MHz

109.5
logcos

cos0.0091

5.3

1/2

6

e90

2

1

5.0

12

wH

n

L Af

p
i

R

If ⋅

⎟
⎟
⎟
⎟
⎟
⎟
⎟

⎠

⎞

⎜
⎜
⎜
⎜
⎜
⎜
⎜

⎝

⎛

−

⎥
⎥
⎥
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢
⎢
⎢
⎢

⎣

⎡

⎥
⎥
⎦

⎤

⎢
⎢
⎣

⎡

′
×

χ+
×

∑
  (33) 
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   ��BR12 9  .�K�6��� j�5�� �+'���) ;+
�#  

   (4~χ  P��6�� 4�: P�K
�� c'� ��+: �� EF �+'���) P�7v� �km 90 M�	# �
4�:� .χ < °90 >
 ��K#cos

0,5χ .��G�� ��#��'
  

  i90:   P��6�� 4�: (����� �#��pkm 90  

  I:   ]�4�� � lQK#4.  

��� ]�44  

 ���I ����
O ��
K� ���
14� P �=D1�34� �fL 

�$%��&'� (���� )*�� ��+�� 

C��+6�  

/5D� 

C��+6�  

�EF� 

J F M A M J J A S O N D 

> 35° N> 35° N1,11,05111111111,051,1

> 35° N35° N-35° S1,051,02111111111,021,05

> 35° N> 35° S1,051,02111,021,051,051,02111,021,05

35° N-35° S35° N-35° S111111111111

35° N-35° S> 35° S11111,021,051,051,021111

> 35° S> 35° S11111,051,11,11,051111

  Aw:   t��'#� >c'�� �G��
 �Q5d 4�: (4~ C��
�� � =�1
�� �
�:1  �
 ��T��f�� ��K�� k�QS �
°0 EF °30  4�:�°90 ]�4�� � %���1�� Z�G5�� j�5�� EF �G#� >5  4�:°60 j�5�� _�{�'6� .

.`Q�� `�S�4�� ]�7	�$9� �Q$��) �Q$���� ��K�� k�QS 4�:  

��� ]�45  

 	
�2�� P Q%R2�� ��
8 ���Aw  P��S�� T�1�� UI �V8°60  

 �����
O ��
K� ���
14� P �D1�34�fL 

�$,�-� .�/�� 0�1 ��+�� 

 JFMAMJJ A S O N D 

G��H��  1,301,151,031111111,031,151,30

I;�J�  1111,031,151,301,301,151,03111

 j�� A'JfL  `�e� @������ �B �:�$ �� �tr  M�	# �
4�:fL ≤ 2fLN  

:��B  

  MHz
3000

D
fLN =  (34) 

 A'~�fL :������� �f�G�� ��5T� ������� �HX�� ��:�'�� ]HS  

  fL = 2 fLN e
–0,23t  (35) 
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 ��Bt  ��U��� 4K) ��:�'�� (4: �2tr�
O .  M�T �5BH�� ��:�'�� EF �+'���)fLN = fL   ��(�K�� ��T `QK6 t1�� @���� EF
(33) .l�:O �7��  

4.5   �� �����7 000 �km 9 000  

 �#c�$�d�#Y� �8��� ]�u %4! s$��
 (4U�#Eti  j�5�� �) `�S�4�� ]�7	�$9� ]HS �
 ��T�'�� �
 Z4�� �12 �Es 

�El ��B .Es  ��(�K�� �
 ]�v� %4
� ;�)���� �18 �2(27) EF c
6� .El � A��
 \��$O�7  ��(�K�� �(28).  

  Ei = 100 log10 Xi            dB(1 μV/m)  (36) 

}�$O l�:  

)–(
0002

0007–
slsi XX

D
XX +=

  

:��B  s
E

sX
01.0

10=  

�  lE

lX
01.0

10=  

 ((���� t��'#�MUF  j�� �f/O c'7�� `$�$Y�F2(dmax)MUF  ��(�K�� A'B(3)  �7h��F ��
�� j	U��� RQ5d �8O �

 ]�4�� � 1.(O  

6  ������� 	
� �
����� ������� ��	���  

 �B ��T�'�� Z4
 EF �+'���)km 7 000  %�5��� � %���1�� �5#�Q�� �Q$��) ]�v� %4! A'J ��B2.5  �8O �

 \��$Ow ��T �#c�$�d�#Y� �8��� ]�u %4! M�	6 �K
Ew  (dB(1 μV/m))  ((���� 4�:(MHz) f %��!"� %�4� (4J >

 %�'���� ��)�5��(dBW) Prw ) ]�+5�$� `-��2 4�:H  �+'� t��'# %��'SGrw )dB  0�z� � (`B����� `-��^� EF �+'���)
:I���� �U��� l�: %��!"� (���  

  Prw = Ew + Grw – 20 log10 f – 107,2            dBW  (37) 

 %�'���� �z���� %�45�� s$��
 lQK#�(dBW) Pr  �
 �� 3�h$F ,�K�#� >A���$Y� ���® �: %�(�G�� ���45�� ;L ]HS �

 (4K�� EF �+'���)� .\��$Y� �12 (��� 0�z� � ]�+5�$9� `-��2 A'	) A���$Y� 012N :P�7v� � ���'�� A���$Y� �
  

  dBW10log10

1

10/

10 ∑
=

=
N

w

P

r
rwP  (38) 

�
O  |��6 ��T�'
 EF �+'���)km 9 000'J ��B > %�5��� � %���1�� �5#�Q�� �Q$��) ]�v� %4! A3.5 ]�v� %4! M�T >
 �z����El  (4~� .�+���� A���$Y� ��G� �)�56Pr  ��(�K�� �Q$��) ���n� 012 �(37)  ��BGrw  A'	� �7�� ��O `2

 �) P��6�9� Z4
 � \��Q�� @7'�� 4�: ]�+5�$9� `-��2°0  EF°8.  

 s$���� Z4�� � >%�45�� (4J�7 000  EFkm 9 000  ��(�K�� �
(36)  R7�5� ���)�5�� �6�45�� �Q$��)Es �El.  
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�� ��3  

���	
� ����
 ��	�
�  

7  ������� �� ������ ���
� �
���� !����� (S/N)  

 ��/���� `QK6ITU-R P.372  AQ5�� t(�BO cG� `$O� `-��2 l�: ]�+5�$9� 4�: �#��� C���D�� %�4� s$��� ��7��
H)  MF� .��d�	�� C���D��� ��:��Q/9� C���D�� %4! j�� ��D#O `QK6� >��
�� ��/�
 ��O |�T %��'S(dB(kTb)) Fa  �2

 ((���� 4�: �z���� ��8���� C���D�� �
�:(MHz) f  ��BK ��) ��)�� `2 ��K8��� %���n� �8�(� >M�
g�T  ��45�K 288 .
 �7�5�� 012 �: �6���� C���D�� �
�: ���§ 45T �S� `�7: ]�+5�$� `-��2 >��
�7: >�7K�'# �
4�KTFa�� �	�� .  MO

 �7�5�� ,�+Q6 ����# MO A$���� �
 M�	# 45T >%�T��
 c� ����® ���-��2 � C���D�� �: ��
�� }��� ���QK
Fa � �z���
 ��/���� �ITU-R P.372 .I�O �#45��  C���� EF %��!F �+'��� t�h
�� s$���� M�T ¬ �
�(dB) S/N  �S�( �55e�

 |�Qd ��:(Hz) b   :�2  

  S/N = Pr – Fa – 10 log10 b + 204  (39)  

:��B  

  Pr :   %�5��� � %(4e�� �+̄5�'�� � %��'���� �Q$���� %�45�� `26 .0H:O  

8   �"# $% ������� �� ������ &�'( �)������ ������ ��	*( �+,��'�-.� /�0� �	�
1*��� $% 2
3# �-�4% &�'  

 �
 %(4� �#�w
 �+'d �8O �
 C���� EF %��!F �+'���� �+5�'7�� �B���� %�45��� tc�$�d�#Y� ]�v� %4! 4#4J �	 
C���D��� %��!"� ��T��¨� ��94) @���� .�S� EF 3�# �
� %4B�� �:�$ ]HS  (�7�:� �	  Z�SO ���QK
 \��� ��

 ��*�� �2��+6 R�� A'��� `2 %��!"� �+� �V b�7'�� A'���WARC HFBC-87  ���K�� �#�
K�� �8Y� cG� ���¨� ;

 �7�5)dB 5  �7�5) ��d4�� �#�
K�� ���¨��dB 8�
O . � �#�. %��!"� �+S EF �+'���) ��94) �#�
K�� ��T��¨� 1S*�T �8Y

 ((���� EF ��f
��� ((�6 �+'dMUF  ]�4�� � ���F ��
�� `$�$Y�2  ��/���� �
ITU-R P.842.  

O�
  ��/���� �
 �S� EF 3�# �
 cf��� �h++'# R�� C���D�� %�45� �#�
K�� ��T��¨9� 1S*�T �#��� C���D�� ���B � 

ITU-R P.3729� . ,+Q6  C���D�� �#�
K�� ��T��¨9� 1S*6� .%4B���� �:�'�� ]HS � cf��� �V �7'# �+'d �#O �����B
 ��/���� � �#�
K�� ��T��¨H� (4e� �U��� l�: �
g�� �#�f��� �: %�!�+�� ��
��K�� \��� � ��:��Q/9�ITU-R P.372 

� �9�7�B� �
 �+����) ���GB ,�K�6 �©O �
 j���� l�: .M�
g��� M�	�� � cf��  

 �7�5� �#��'
 �S� EF 3�# �
� %4B���� �:�'�� ]HS �#��v� C���D�� �#�
K�� �7�5�� �+���� ��cf��� ��K6�dB 2±.  

 C���O �2p��z j�# R�� C���� EF %��!F �+'��� `QK6%90 :��(�K�� � @���� �
  

 S/N90 = S/N50 – (S
2

wh + S
2

dd + N
2

dd)
1/2 

(40)
 

:��B  

  Swh:  o(O  %��!x� t�
: ���¨��)��Q�� s$���  c�f6 �7� �6����� %4B���� �:�'�� � ]�v� %4!
�:�'�� (dB) 

  Sdd:   %4! s$��� �)��Q�� %��!x� t�
: ���¨� o(O]�v�  ��c�f��� �7� �6����� �h
�� �
��
���� (dB)  
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  Ndd:   t�
: ���¨� l�:OC���D��  ��c�f��� �
 �6���� 4B���� �h
�� � ]�v� %4! s$��� ������
��
���� (dB)  

 ��/���� � (����� t(�K�� `7�#������� ;#p���� ��
��K
 �
 Z�SO �#�w
 A'�� ���¨9� j�� l�: ]�Gn� �	 �ITU-R P.1057. 

9   �56��% 77
8 97#(LUF)  

 �7K�'
 ((�6 o(O ���K#(LUF) ��/���� � ITU-R P.373 \��O EF ���45
 >((�6 o(O �dO l�: �#�K��� ��5T� ((���� �12 �45#� .
MHz 0,1.C���D�� EF %��!"� �+'�� t�h
�� s$��7�� �#��'�� �)��Q�� C���D�� EF %��!"� �+'d l�: ]�Gn� 04�: �	  >  

10   �����.� ���	�� �-7�5���(BCR)  

1.10   ������ ����������������� ������  

 �#(�7�:9� ���K6BCR  ��/���� �ITU-R P.842�#(�7�:9� ��B > (�#�w
 �+'�� ��/���� 012 � %�QK
 `2�)  `2
(%(4e� C���� EF %��!F �+'��� tO) %(4e� C�(Y� c#�K
 ,�5J ]�7�B�.  }�$O l�: �456 �����7��� �7�dY� ���B ��

� C���� EF %��!F A'��� 3�# �
� %4B���� �:�'�� ]HS ������ C���D��� %��!"� ]�u %4
� �#�
K�� ��cf��� �
46 R�
 %�5��� � �Q$���� �7�5�� ]�B ;#p���� �/� (�#� .�S� EF8  ��/���� � <�1) ���� C��8"� (�#�ITU-R P.842.  

2.10  �� !"	�� #�#$ %���&� '� (���") ������ ������ ����������*+,���� %)�-.� ��&��  

 �#(�7�:9��T �+�G�� ��	
��� �7�dO ��7  �2C���O ;���# R�� @���� �
 �#�w�� �+'��� `2 >((����� @���� ;����� 4#47���) ,�K�#
 l�: ]�Gn�C���� EF %��!F �+'��� %�5��� � (����� C��8"� 3�4{�$�) �)��Q�� 8.   

4#4� %�:��
 ��
�7: `f+�#� .���7�� ��	
�� �7�dY� � ��°+5�'�� %��!x� ((����� @����  

1.2.10  W
LV�� 7
D=1�  

�7�T �#(�7�:9� �#456 3�5#� .%��5�� � �5��� ������ s±'+�� ��X7��� 34{�'# :��7�K
 ;)�O l�: ���K�� ��	
��� �5#�Q) ,�K�#  

�  ����� ��	
� Tw ��7� �7K6 t1�� �
g�� �/���� `2� : 0p��z i4~ t1��� 3����� C�(O ,�5J l�: %��!"� A���$O
.C�(Y� �12 �
  

�   ��
��� ��	
�Fw 0p��z 4~ t1��� 3����� C�(O ,�5J l�: ��7� %��!"� A���$O �7K6 t1�� ((���� �/�T `2� :
.C�(Y� �12 �
  

�  �
��� �� ��
�� ������  ��������S/Nr:
 

�$O s$��
 %�4� P�7u �+'d C���D�� EF �:�'�� � %��!"� A��
 ((����� @���� ²1T�d �7� %��!"� A���$a) s�J R�� ������ � (4e� C�(Y� ,�5U�� �)��Q��Tw �Fw.  

�  ��
��!"� ����A �$��� %�4� %�:��
 ;
 >��
�d� \��$O �	� ]�v� %4
� �:�'�� � �Q$���� �7�5��) *+���� j�# :
 >P�'69� �+'d M�	6� �:�'�� <�6 � %4! �X�Y� \��$Y� (4U�#� .\��$Y� <�= � `-��^� A'��A `2 >

O l�: ��*6 4� R��� >�7�h�� \��$Y� EF `:���� \��$Y� ]�u %4! �+'d�
 �=F 3����� C�(   cSa6 ;
 @5T��6
 |��# ��
�d�Tw  �
 l�:O ((�6 4#4��Fw.  
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2.2.10  :
2��/� X�%  

�
 \��$Y ��
�d9� @�� A'U�# :������� ��(�K��)  

 ms10)/(τ 3×′= cp (41) 

:��B  

  p′:  
 ������T� ��-�
 �T�'(km)  ���(�K�� � lQK6(13) �(19)  }�	Kd9� P��6���hr>  (4�
� j'5�� 1.5  

  c:  C�D�� �:�$(km/s)  �C�D��� .�n�  

.\��$O �	� �
g�� cSa��� j�� EF ��(���$� A���$Y� �) `������� �
g�� cSa��� 4#4J �	   

3.2.10  ���
D�8/
O Y�V��� 	���Z  

:�#(�7�:9�) *+���� � I���� C��8"� 34{�'#  

 �� 
#�$ %&' (�� )�*���km 9 000:  

 ���+�1:  >�7�h�� \��$¤� ]�v� %4! (4U�6Ew  �6�5��� � %(����� �5#�Q�� P�+6�)2.5 �3.5.  

���+� 2: ) ]�v� %4! p��z �h�T j�# R�� Z�SY� �Q�
��� A���$Y� ;�L 4#4J j�#EW – A ((dB).  

 ���+�3:  �6�Q�� � %(4e� A���$Y� �
(1  �O(2� (4U�# >� A���$Y� ;�L (4U�6� >�9�O �/���� \��$Y  %1T����Tw 
.�9�O �/���� \��$Y� �
 �'�5��  

 ���+�4: �7�T  EF �^�. �G# R�� ��c'��) ,�K�#km 7 000 34{�'# �O >%1T���� � ��/���� A���$Y� %�4� ;L j�# >
 %�5��� � (����� `�S�4�� ]�7	�$9� C��8F4.5 �7�T  �) �^�. b����# R�� ��c'��) ,�K�#7 000 �km 9 000 (4U�6� >

 ��$�$Y� %��4�� �#(�7�:�(BCR)  %�5��� � (����� C��8"� 3�4{�$�)1.10 ]�4�� C��8F �7K�'# t1��� 1  ��/���� �

ITU-R P.842 >�)��Q�� C���D�� EF %��!"� �+'d �7K�'6� .S/Nr%�Q�� � > 10 = �
.]�4�� <�  

 ���+�5:  %�Q�� � �(4J R�� A���$Y� �
 s�
d \��$O tY M�� �=F2 @���� %1T�d p��q�6 `����6 ��
�d� ����O> 
Tw ����L"� %��4�� �#(�7�:�) �/��� <��� ����[ �5#�. 3�4{�$�) (4U�# A���$Y� 012 �: j8���� �#(�7�:9� _5d M�T >

]�4�� � %(����� 3 � �
 ��/���ITU-R P.842 %�Q�� � %(����� ��+'��� �#�7n� A'd �: ��K�'6 R��� >3  ]�4�� �

3  �+'���)A  �6�Q�� ��7�K
 ;�L C�Q:�) 3�# EF 3�# �
 �i�f��� �
�: �2�q�6�5 �8  �7�5��dB 0 �#(�7�:9� k�Q¨�� .

 >%(4K��� A���$Y� �S�46 �: �L����MIR %�Q�� � �6���� �
�K�� �2 >12  ]�4�� �
3 %��4�� ����L"� �#(�7�:9�� .
�  %�Q�� �)�56) ��X�d9� \���14 ]�4�� �
 3  ��/����)ITU-R P.842 t��'6 (((BCR) × (MIR)/100)%.  

�6�Q�� � %(����� �#�
K�� ��T��¨9� j�� � ����� %(�:F t���D�� �
 M�	# 4� �dO ³BH#� 6 �9 ]�4�� �
 3  MF =F
.A���$Y� �H�S�) ���§ 4� �9�7�B9� ;#p�6  

 ���+�6:  ��5+. s$� ���B �: j8���� ((���� ���� M�	# MO ;���# >��X�d9� �h�T ;���# R�� ����Y�� ,.���� m��S
 (�4£ }�	Kd9�Hz 1.�7h�# ��+5�� �12 �
 ��((�6 MO �5#�Q�� 012 ����6� >  

*��� ,- 
#�$ .�/' (�� )�km 9 000 

 %�5��� � �z���� <�6 `2 �+���� %��!"� ]�u %4!3.5 �7� m�4�6 �+���� %��!"� 012 ����6 R�� A���$Y� MO �����#� .
 0�4� ��
�d� @�� 4#4�ms 3  4�:km 7 000  EF �G�� ���«�46 (�(g#�ms 5  4�:km 20 000 @���� %1T�d @d�� �=F� .

.�-�(O k��
) `�# �� 3����� Ma) *+���� �	  �12 ��
�d9� @�� 4#4� �
 ��O 3����� �GG{��  
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3.10  /0�	�12� )�3��2�  

 ��X�d9� m=�y `:4�'# t1��� ��X�d9� �: j8���� 4#47��� \�'B �8O �
 ������� ���Q��) 3��5�� `f+�# ><�= �: �HDT
 ��#1��� � (����� `-���$9�1:  

 ���+�7: ��#1��� � %(4e� ��T��f�� ,.����� ����Y� � ��X�d9� 0�(�
 @�� 4#4� l�: c'�� Z�Qd� �=F 1%�5��� > 1  @5+.
�5Q��� A���$O �
 \��$O �� l�: %(�#g�� ����O � @���� ��X�d� ���( F  ��X�d9� %4!� @���� %1T�d �S�(pTspread  (�8���

 @���� %1T�d �T�B �Tw.  

 ���+�8: %�5��� � (�# 2 ��#1��� �
 1  >012 t((���� ��X�d9� ���(� ��X�d9� �: j8���� ((���� � �7�e� 4#47���pFspread >
�5Q�7�� �7�h�� \��$Y� l�: ��#1��� � %(4e� ��T��f�� ,.���� �� ����Y� � ,+Q6 F X�d� %4! �48�� ((���� ��

 ((���� %1T�d ���B � %�����
Fw.  

 ���+�9:  �p��z �=F�7��  tOpTspread  �O/�pFspread  1T����� ���B l�:)EW �A( `f+�# ��X�d� ��4B ]�7�B� M�T >
�5Q��� A���$a) �/��� j	U��� k�5d 4�: 04#4J F %�5��� � (����� �U��� l�: 3 ��#1��� �
 1 %�:��
 4�:� . �Q5d �
 �X�O

.��Y� ]�7�B9� 1S*# >�
 ��
�d� \��$Y %4B�� j	J  

 ���+�10: :������� ���4�� � ����L"� %��4�� �#(�7�:� lQK6  

 (BCR) × (RM) × (1 − (1 − RSmax) (probocc)) (42) 

 ��X�d9� ��h� ]�7�B� ��Bprobocc  ��#1��� � ��K
1.  
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 ��-:���1  

 ;<)5)�1 

 �-
�%�=-	�� >�"��� >����� ?@����A� ��B�'A� CD�E(HF) 

1   %�X���� �d�	�� �
 %�&'���� %�45�� �
g�� ��X�d9� m=�y lQK#pTspread :t(�: �Gd `7�#����� ;#p�6 � 

spreadT
mTspread

m

p.p
2

2

2

)–(–

e0560

ττ

= 

 �h�T M�	6 R�� �9�n� �τ  �
 ��Oτm.  

:��B  

  pm:  \��$¤� t����� }�	Kd9� �
 ��+5�'�� %�'���� %�45��  

  τ:  �K�� �
g�� cSa���  

  τm:  t����� \��$Y� � �
g�� cSa��  

  Tspread:   �2� `�G��� ;#p���� �12 � @���� 4#47�� t���K�� ���¨9�ms 1.  

2   0�i�f6 �	!� �$��� ((���� ]�B �����
 ((���� 4#4� � ��X�d9�:@���� 4#47�� ���[  

spreadF

ff

mFspread

m

p.p
2

2

2

)–(–

e0560=  

:��B  

  f:  W�K�� ((����  

  fm:  W�°$��� tg���� ((����  

  Fspread:   �2� ((���� 4#47�� t���K�� ���¨9�Hz 3 

3   >�h! � (4� 3�# � ��X�d9� ��h� ]�7�B�probocc:��HK�� � lQK# >  

SRTocc FFFFprob
ldλ= 

:��B  

°<λ<°=

°<λ<°⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛ −λ
⎟
⎟
⎠

⎞
⎜
⎜
⎝

⎛ λ−
=

°<λ<°=

λ

λ

λ

9025for0

2515for
5

10

10

25

150for1

2

d

d

dd

d

d

d

d

F

F

F

  

 ��Bλd `'�Q�f�� ���� �2 
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( ) ( )
2420for1

2019for24119

1907for0

0703for
2

1

4

7

0300for1

2

2

<<=
<<−−=
<<=
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⎠

⎞
⎜
⎝

⎛ −
⎟
⎠

⎞
⎜
⎝

⎛ −=

<<=

lT

lllT

lT

l

ll

T

lT

TF

TTTF

TF

T
TT

F

TF

l

l

l

l

l

 

:��B  

  Tl:  W��:�'��) ���45
 �+����� �Q5d 4�: `�e� @������  

  =FR  (0.1 + 0.008R12)  ��(1 h#O�7 >�f/O � R12`'7
�� ����	�� �2 

�  

( )( )1.560sin0.450.55 −+= mFS
o

 

 ��Bm  �2.�h
�� j��  

4   C��8F M�	�$ �6(4e� ((����� @���� ²1T�d (�4n ��K+6 ((����� @���� ��X�d� ��d�	
 ��#�$ 4#4J *+����
�  (�4B �7� ;56 �7�h�� \��$¤� �#����� �d�	�� �#�$ EF �7h��) �#�$ l�:O �+'d @d�� �=F� .34{�'�� ��	
��� 3��d

���� M�	# MO ;���# >3����� �GG{�� p�
��� �) �S�4���.��X�d9� ��h� ]�7�B� m=�y ��QK# t1�� ]�7�B9� �7� 3�  

__________  
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